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True or false (5 questions).
, - correspording
1.) The capital letters CPCTC are an abbreviation for the phrase, “congruent parts of congruent triangles are

congruent.” FO.LSQ

2.} Inanisosceles triangle, the perpendicular bisector of the base is also the same segment as the angles
bisector of the vertex angle. TYULL

3.) The base angles of an isosceles triangle are always acute. Tvue
4.) An exterior angle of a tria ngle is greater than each of the interior angles. True

5.) The sum of the measures of the three angles of an obtuse triangle is greater than the sum of the measures
of the three angles of an acute triangle. Fol\Se&
6.) It is possible for an obtuse triangle to have three congruent sides. TalSe,

——

7.) A triangle with all the sides equal in measure must be an acute triangle.mel

8.) If a triangle has two angles of equal measure, then the third angles is obtuse. Tolse

——a

Find the missing value in each triangle (4 questions).
w=1°
m=us’®
42° m
P ok’
p y
37° 3 y=137°

If possible, name the congruent triangles. State the conjecture that supports the congruence statement. If
you cannot show the triangles to be congruent from the information given, write “cannot be determined.”

(6 questi
uestions) AMSE= A _":_DS SN
APEA XA 2 E U sSS &

JATOP = A__-’:_AP M 0
O ANSE 42

derermined.
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Answer the questions below (The figures below are not drawn to scale.) (2 questions)
Consider AJET at the right. E
a. Name the largest angle. £ 420em 462 cm
b. Name the smallest angle. e
I "mm |
o

Consider ABOX at the night.
a. Name the shortest side. 6%
b. Name the longest side] BX 240 4T X
B

15¢

Find the measure of each lettered angles below. (1 quetstion) ¢
3 4
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Find the missing measures below (1 question).

= 62°
P g BXA2%AY = M4
=13 62 _ S
35 3° /fﬁo -7?:\%0 !
- L 13 / s WYy R

ZZEAN g

Answer the questions below (2 questions).

Is it possible to draw a triangle with sides of 5 ft, 6 ft, and 12 ft? Explain how you know and be sure to show

your work. NO} 5'\'LQ> o dosr‘;'\' wWov ¥

Is it possible to draw a triangle with sides of 3.5 cm, 4.5 cm, and 7 cm? Explain how you know and be sure to

showyourwork. 3 §+Y.S 5 ] Yes, e0tin Sumis greaier

SHXT AN L Hhan e A side.
2.5+71>uD Y

If 54 and 48 are the lengths of two sides of a triangle, what is the range of possible values for the length of

the third side? 5"\’*“"8 > ¥ YLI02
B~ L°B |
q o LNREID2
_:}%fX) S XY \—-—

If 14 and 22 are the lengths of two sides of a triangle, what is the range of possible values for the length of

the third side?
4+ 22 > X X & 3l
M+X>22 x> 8
224>

8¢.x 30 ]
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Provide each missing conclusion or justification in the flow chart proof. (1 question).

Giv;-n: IE ~ 50U y p Y
LB LU
Show: AMOS is isosceles
Flowchart Proof M o
I SF=xSU
.‘gw,cnﬁ,._ \
| ~ ASEMZASUO
2 LEW LU | meetr Alt=sAl]- — }159"50 -—»’4 AMOS is isosceles |
_given ASK Congruenss _CReTe mdcs
njecture
- Aiagz-.-' '
L
Thm.
Write the complete proof. (2 question).
Given: £CLJ = ZSLJ Conclusions Justifications
[C= IS 0.LCLT E242SL3 O. aiveN
Prove: ZC = 4£S —LE- g —L.._g
L c LT ES - 1. Reflexive
2.ACLT EAST 2.5AS =
J 3.£C=eS 3. CPCTC
S
Given: ZE // BR _&)_nclugiff Justifications
LE = LR 0.7ZE/ BR 0. &iNen
Prove: ZE = BR (_E-';"L-R
WipR-YA"" 1. AATHhRO.
y Z3 % 2 —Y QCHCXNC
/\{?\/ 2.782 78 2 e s
; ) PN 3. ANZEB S ABRE 3.
” B e 4 cpectC
4 .ZE & BR
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